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SA: SO
M (- H)FLXXIDIBH2 S
Chel: HESHEZE XY (=& JH)
A" G(3) - MPAY - B Ofl &t e HIDE2
O=gHl 3,000 *18 90 270
O4liEe= 6,385,440 «12% 767
OHUAS QIR (XHSEAXIRL) 10,563
oo 86,680 190 7,802
(OE == 86,680 x1H 13 1,127
O Xt 86,680 x1H«3& 261
Oz &l 3,000 =18 90 270
O4liEe= 9, 188,080& *12% 1,103
201 Y ere | 80 80 0
02 ZZ2 Y| 80 80 0
03222 % HAl 80
OQISIAS HIAMAPEHE 40,0008+ 80
206 M =HI 18,276 19,116 AB40
01 XHZ 4l 18,276 19,116 AB40
oY AsSRETY 17,316,000& 14! 17,316
OMYIIHER A2 80,000& =128 960
S=stEa 2tel 13,036 13,036 0
101 @124l 6,276 6,276 0
M4 J12tM22NHSES 6,276 6,276 0
OZ3Sst&a FA02Y 6,276
oo 25,000 *200 2120 6,000
QL8 MNEEZ 6,000,000& *4.6% 276
201 LB 6,760 6,760 0
01 At 22| dl 1,200 1,200 0
OgBt=2H] 1,200
O=sst&Es d4258 7€
50,000 *20H A~ x 12 1,200
02 3234l 5,560 5,560 0
03323 & HA 4,560
OZSatEs &4+ER3
70,0002 *2)4 A+ 12 1,680
OssstEs dlies
120,000& 201 2+ 123 2,880
OA &&= XYl 1,000
O3Tataal Ald2el Xl
500, 000& *2H 2~ 1,000
HAEE & 43,839 20,047 23,792
101 2124 8| 23,839 20,047 3,792
04 J12ZtMZ22 RS2+ 23,839 20,047 3,792
OF A2 2 23,839
oo 61,2803 x 18 x262 16,056
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Chel: s E Y (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
OFs=¢ 61,2803 «1H 52 3,187
OdAxt=< 61,2803 «1H+10& 613
O E S| 200,000& x1H+23] 400
O4tiEd = 19,854, 7203 *12% 2,383
O=¢gt| 100,000& x1H =128 1,200
401 Al HIZ 2 CHHI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OHIEAL =2+ ZUHISA 20,000,000 14! 20,000
HAME 2,000 1,500 500
201 YEr2Z ] 2,000 1,500 500
01 At 2teltl 1,500 1,000 500
oget~ZH| 500
OMEEML HHES (NG, HUS)
500,000& *12] 500
ogxtz 1,000
OMDIX el &l SRz 500,000& 23] 1,000
02 5323l 500 500 0
O A& ZHI= XH| 500
OMYIIX™ el EAI& 22 500,000 * 1K 2~ 500
FOXXHEH=2E 49,400 39,580 9,820
FOAXHEHZE 25 X 49,400 39,580 9,820
201 Y EH2 I 46,600 36,880 9,720
01 At 2t2ltl 45,600 35,880 9,720
oget~ZH| 6,600
OEZOH2E ARESH
80,000& *5I Etx12& 4,800
Os8 & A3 150,000& 128 1,800
o=2g+d 39,000
OF0UXXLAAE &8+
70,0003 «25FH <128 21,000
OZ20Y 2A=g 300,000 x5+ 12& 18,000
02 3223l 1,000 1,000 0
O XXIHEH AlZEHl |
500,000& 23] 1,000
202 044l 1,800 1,800 0
01 S LHOYI 1,800 1,800 0
O=FLAXHH HF=E 0]
50,0003 «3H * 123 1,800
301 et azg 1,000 900 100
09 HAAHIE &3 1,000 900 100
OFCIXXIME H&XAS 1,000, 000& *13l 1,000
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Ozl 3,000 x4 +5 60
OLNE MMHES 1,205,000 *4.6% 56
206 M=zl 4,000 4,000 0
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O EEcl sSZ2EESAM 20,000,000 * 14| 20,000
O JI9el =2 € T2EIIA
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O sgcl =2 € T2 ZHIA
20,000,0003 * 14 20,000
O tt8el s22E & =2 HEXSA
20,000,000 14 20,000
03 Al = THHI 900 900 0
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el =gl 141,789 105,410 36,379
elg =gl 141,789 105,410 36,379
101 1A d] 141,789 105,410 36,379
01 2=+ 50,251 34,294 15,957
OAZR22+E 50,251
Ob6= 11,0742 +5Z »30A1 2H+ 12 19,934
ors 10,0033 52 #30AI 2t * 12 18,006
@)1=, 8,980 2 «30Al 2«12 6,466
092 8, 1732 *30Al 2t*12E 5,845
03 RIHA=ZZ X E S 91,538 71,116 20,422
CFSE~IES 91,538
oJlzs 1,676,060 »2E *12& 40,226
oJlg+& 1,676,060& x2& 4= | 13,409
OEEFIHI 500,000& x2& 22| 2,000
Ogxt+=g 18, 1502 x2E +8AI 2+ x 12 3,485
OAIZtIZ225d 18,1503 x2B *15A1 2tx 122 6,534
Osgaesg 181,500 x2F »BAl 2H+6& 17,424
OfIg=¢ 50,0002 ~2H * 12 1,200
Ofld+=g 30,0003 x2H *12& 720
OJt=E+g 140,000 x2E 122 3,360
Ous= x| 50,0002 x2E *12& 1,200
OF g A 70,0002 ~2H * 122 1,680
ou =l 150,000& x2& *12] 300
Jl=ZHl 194,730 166,493 28,237
Jlzal 194,730 166,493 28,237
201 2Er2gY| 144,710 123,133 21,577
01 At 2telHl 41,390 37,462 3,928
oget+=EH| 24,420
O&NEH+EHI 300,000& 12 3,600
OARE=HI 350,000 *12& 4,200
O&l+=% & ZAMUWS M= 50,0002 *200K 1,000
O=2&UM=E MA 150,000& 122 1,800
OtlE & dJ12tdl= 258
150,000& 12 1,800
OZgHEH P 250,000 x50 x22] 2,500
OIs=AD EH ¢
1,000,000& *2CH x22] 4,000
ORQUIHIANAH SR
400,000 x12& 4,800
OZ 2N LY Ede==2 60,000%12& 720
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2M: 8™
HE: #H2AAY (L)
chel: JI2Zl (=& JH)
A" G(3) - MPAY - B Ofl &t e HIDE2
o2Z+Y 13,370
O &l 50,000&*121& 6,050
O=2H| 30,0003 244 7,320
O= &l 3,600
Oort2® S =4l 8,000& 15330 3,600
02 25234l 103,320 85,671 17,649
0323 £ HMA 78,920
o&II23 5,500,000 =12& 66,000
Oi=E 23 200,000 =128 2,400
OJIEE322= ¥ HA 200,000 =128 2,400
OZEXNE B 500,000 =4 CH 2,000
QdFusYs= 150,000& 122 1,800
OQAXNEEREZ 360,000& * 123 4,320
(@) =34 600
Odi-He)| & A=l 1,200& *500 £ 600
OA &&= XYl 7,000
OFAMAIL 22| RX 2+ 500,000 +73| 3,500
O=SFdx4dI| KXY 500,000 *2CH 1,000
OsX3sl2 X2l 500,000& x4 3| 2,000
Ostdd sXslz A22AHA 500,000 «13] 500
OXtE A& ey| 16,800
Oy G=2INL:] 350,000 x4CH« 12 16,800
202 oddl 39,200 33,900 5,300
01 SLHOYI 3,200 2,700 500
O3zo&A & HUHHPFE 50,000 «8H 8L 3,200
02 EHAYI 36,000 31,200 4,800
OFHUNHI 200,000 x 15 x 123 36,000
203 PR F&H] 10,220 9,460 760
01 J|22FHRF&H 5,940 5,940 0
OJI 22| 550,000& *12& *90% 5,940
02 AL HRFEY| 680 520 160
OF A IS R FEH| 40,000 *17H 680
04 EA2IHRFEL 3,600 3,000 600
OFN2IHRFLEY| 300,000& x12& 3,600
405 XA SHI 600 0 600
01 AL 2EF S| 600 0 600
OHFA TVRAHI 600,000 = 1CH 600




